CompSci 94
KeyPressListener,
Collision Listeners

November 7, 2024

Announcements

Assignment 5 is due today

Assignment 6 out, due Nov 21

Watch videos and online quiz for Thursday

Exam 3 1s November 19
Prof. Susan Rodger — Study materials on Nov 19 date on our calendar
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I How do I he h " Q2: What happens 1f I press letter A?
Q1: How do I get the hare to turn around? If 1 press the letter T?

© “thig) addKeyPressListener add detail

 declarsprocedure keyPressed | eventisotor| | CovertsDiot|[_ Covenigoty]  Seclareprocedue keyPressed | [eventiteter] | Cevent i
~ [doin order - ' ) e In order

| Ghishard tum (RIGHT , 510 adddetal | || WICevent islefter]  istueten
B turn [RIGHT 510  addoetal |

~ {ihis addKeyPressListener add detail

lL drop statementhere |

If [ Cevent isKey [T | s truethen
[ (this.pandal tumn CRIGHT| | add detail ]

§§§; |L'drup statement here
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Q3: What happens if press letter A?
If press letter T?

““this| addKeyPressListener add detail

Q4: What does Combine and
Fire Multiple do?

: {‘this| addKeyPressListener, multipleEventPolicy LCDMEIINE] . heldKeyPolicy [ﬁRE_MULTIF'LEj

declare procedure kEj"Pl‘ESSEﬂ 1 event |sLetterJ [i F’Eﬂ |5D|g1t] I::

do in order

e ;
EEfi'fL event isLetter| is true then

 Cthispig turn CRIGHT , 510/  add detail

declare procedure I(eyF]'essed E:_EJ |sLe’rter] K Levenﬂ |sD|g|1] I: evenﬁ getl(e],r] ]

do in order
if [ Ceveni isKey CRIGHT | istrue then
(this whiteRabbit - move [RIGHT , 5026  add detail

|f [:I::evenﬂ isKE].r[fﬂ ] is true then
(this.pandal turn CRIGHT) , 1.0  add detail ]

‘else

f [ Cevent iskey CUP| | istrue then
f (ihis whiteRaboit  move [FORWARD| , 50.25)  add detail

' | drop statement here |

o

CompSci 94 Fall 2024 7 - CompSci 94 Fall 2024 9
Q6: What happens when
QS: What happens when ... a) panda collides with a bunny?

“this| addCollisionStartListener [ (fhis .ounnies| , [new SThingll{ (ihis.whiteRabbit, fhis.panda} = b) whiteRabbit collides with a bunny?

declare procedure collisionStarted L:l event getSThingFromSeta | (r] event getSThingFromSets| C) plg COllideS Wlth a bUHHY?
daoi (s
e = d) whiteRabbit collides with panda?

| ChiswhiteRabbit tum CRIGHT , =10  add detail | o
= his| addCoﬂisaonStarﬂ_;stenerL L’thls] bunnles] [new SThinafl { Cthis.whiteRabbit, (this. panda]i] i

declare procedure collisionStarted I':] event getSThingFromSetA | Cﬁ@ﬁ getSTh'lngFromSetEl]
do in order

it [ (Cevenll getSThingFromSetB| == (fhis whiteRabbil |  is true then
- (fhis.whiteRabbit© say SFhello]  add detail ]

B
else

e | ) T, || ]
if | ( Cevent getSThingFromsets| == (this.pandal | is true then

a) panda collides with a bunny?

b) whiteRabbit collides with a bunny?

- (inis.pandal’ say SThello]  add detail |

- (fhis.oid say sfhellc)  add detail ]

G ey

Note: bunnies is an array of bunnies 1
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Q7: Clicking on an array object

 There is an array of bunnies. When a bunny
collides with panda, you want the bunny
that collided with the panda to say hello and
turn around once.

 Why doesn’t this code work?

“1his| addCollision StartListener [lnew SThingll{ (this.pandal j ! E L:th_TS‘I .bunnies] add detail

declare procedure collisionStarted [ [event geteThingFromSeta| [ event getSThingFromSete

do in order

i Cthis.bunny4|  say [Thello’]  add detail |

| (hisbunnyd tum CRIGHT , 510/ adddefail |
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Class Today

* A game with collisions

Faet =
g ™
P ]

-e
-
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